H & 0l & AHS B Ml A

ool AFEsXAUNA s (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
23R = 1,625,004 1,383,741 241,323
Agels 24 1 1,562,145 1,327,549 234,5%6
SFEsSXEUAE 1,562,145 1,327,549 234,596
Agels =g 3| 743,724 546,492 197,232
101 21AH| 8,846 8,804 42
04 JIZtN2Z2XNSE+ 8,846 8,804 42
O 23l 2e8H8Y EX01% 8,846
== 78,8803 5122 8,046
-28= 200,000 x2H 2 800
201 eet23| 295,366 395,840 100,474
01 AtR2t2|HI 195,030 333,840 /138,810
O o&d s&ge Ui
4,000,000& *90/100 3,600
O MR 225 7Y
4,500,000& *90/100 4,050
O 9F g2xs =& (52X)
23,0002 x65+4=+ 12 5,520
O 9% g2xz =T (XX
15,0002 x255+ 22+ 12 9,000
O c3z2g =3 7Y 15,000
O 23AXN=(SINFEI, EI1,8A01 S) 20,000
O 23 =M= 13,0002 50052 6,500
O gRAs] wi XM=
900,000& *43!%90/100 3,240
O Mg &8 S M
1,200,000 %90/100 1,080
O HIANPLA(ZAN) S/ES S X2 15,000
O ZRIYEH MAPIAS BHLY
70,0002 x5 *23] 700
O QNSRS EASL
100,000 7 & *63] 4,200
O AIZEX 8EA-E
200, 0002 *10E 62 12,000
O BcdANER RS 4L
100,000 x5 & »62| 3,000
O Z8Es Atdlelst 2,700
O NEHANE BXE AR 500
Oz dATY 01
1,320,000& 123 15,840
O 23| 3195 g2t 20,000
O ussdl|a 8Us S
500,000 x20& »23] 20,000
O MuorEase igsl= pgl
50,0008 x22& 1,100
O Moth E=2S &M= 22,000
O W22+ 20,0002 x20H *252 10,000
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2A:

BH: XYzl 2% X
Celr 2SR UA S (EEEE))
SA - B BRA(SH) - HRA - of v G o HIDE2
02 S5=g4l 100,336 62,000 38,336
O Xt2kdl (5CH) 20,700
O 23 BAF X2+ S 20,000,000 20,000
O 2des 828 JI12430 RAEs
250,000 * 122 3,000
O ANAENNHAH FX24
2,300,000& 22 4,600
O wasy 288X2%
800,000 x4 NI Ex23] 6,400
O 22 SHOIX € 32T FAES
750,000& * 122 9,000
O QY MISAAY =8 L B2+
2,800,000& ~12& 33,600
O 23 &X2eE K2+
253,000 x 122 3,036
202 04| 54,512 43,748 10,764
01 2K 16,512 13,748 1,764
O JmBEXA #NH A
20,0002 *10Z %102/ +70/100 1,400
O 988 =30l
70,0002 7 *12&%70/100 4,116
O QA" =304l
70,0002+ 12 %123 +70/100 588
O 228 &0l
70,0002 x32 %122 +70/100 1,764
O dE/A S0
70,0002 x 132 %128 %70/100 7,644
04 =XlI=todbl 39,000 30,000 9,000
O AR AFEIS 2UEY 48
3,000,000& 1 3,000
O o2 =A=d = 3,000,000 7 21,000
O &ZX2ol3| #XI0R A
3,000,000 x6H 15,000
203 HE=AH] 3,000 3,000
03 A= LR F&IH| 3,000 3,000
O 2MF=EG AIB=H 3,000
207 ARl 2,000 20,000 18,000
02 HAHHEHHI 2,000 2,000 0
O D= 2ZEQN AISE FU(EEY,
MY D= )H) 1,000,000& #24] 2,000
301 EtE NS 8,500 8,500
14 IIEt2 8= 8,500 8,500
Y= 250,0003x 1 x 123 3,000
O 25| HIAMPZAHEAN 21 &t
150,000 x3& » 10! 4,500
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SN o5l AR
B2 K|gols) 29 X

Gt o|™E=X|KLHA!SH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEEEEECEEEDEBEE]
= 1,000,000 %14 1,000
303 Z&=s 1,000 1,000
01 o= 1,000 1,000
O BHNSLA LA LAt
1,000,000& 1,000
305 HHatl= S 500 500
01 that=S 500 500
O 23| HYARTAH(EAN) S4B 4=
100,000&+5& 500
308 AHXIEMSOIE 209,000 0 209,000
18 SIS0t HAS A 209,000 0 209,000
O 28 SEEEIE, ¥8) 77,000
O 238 A8 132,000
401 A2 HIZL R 0HbI 20,000 30,000 10,000
01 Al&HI 20,000 30,000 10,000
O EAANEE=S 20,000,000 20,000
405 AHaHE = 141,000 356,100 105,900
01 It =S F = 138,000 32,100 105,900
O ARSI (2 S) 7Y
2,000,000 %14 2,000
O o5l BA 28 7 5,000,002 5,000
O olslHAILI)| (230 % U Al
FI3A) 6,750,000 ~8CH 54,000
O XY DA 7Y 76,000
O XD TH 7Y 1,000, 0002 14 1,000
® SAPL| 3,000 3,000 0
O 93l ANHEE HDS =AY
750,000 *42] 3,000
SIS HAIFE 12,000 12,250 A250
201 Ler23 | 12,000 12,250 A250
03 A= &I 12,000 12,250 A250
O &d=AIZ 3 o stitSiel 4,000
O Hoth 23] =2 ALK& (254 IS &AL,
KAl storStiEl S) 3,000
O Azl 2EE2s &AL JHZl 5,000
S 806,421 768,807 37,614
205 2|5/H| 806,421 768,807 37,614
NEEEEN 145,200 145,200 0
O d@xE+ES T
900,000 x11E~12& 118,800
O EXEs| 200,000« 11H* 123 26,400
2 8= 318,840 314,439 4,401
O 9d E38=¢ 2,415,450« 11E =123 318,840
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2A:

OIGIANR=

= Ngels 24 K&
ool AFEsXAUNA s (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
03 2|2 =LHOHI 15,000 12,000 3,000
O HIMNRZAL - 22ES S EZ0HI
15,000,000 15,000
04 2@ =2/04H| 38,500 33,000 5,500
O 2% =20l 3,500,000 11 38,500
05 o =2gdsS&E| 87,741 76,084 11,657
O 2dgs 23l 87,741
06 232 HRFal| 89,664 89,664 0
O o4& 2,660,000« 1812 31,920
O 2% 1,330,000« 1H 122 15,960
O MUAYNE(2E, AUXSHH , A HH)
885,000 x3H ~12& 31,860
O HZSEAYE 23|
827,000& x1H 128 9,924
07 SIRALNLH(SSAE, ML F) 8,000 5,000 3,000
O 33%9& & MHHu= 8,000,000 8,000
08 QIR AZINLH| (I 2tIE) 8,800 8,800 0
O 22t & =FH| 800,000& 11 8,800
09 oI EZHIH LI 55,000 55,000 0
O 23| Fzopg| 5,000,000&«11H 55,000
10 A BEAMRE = 10,000 7,000 3,000
O d=AIZAXF g2ANRE =S
10,000,000& *12 10,000
N oE=0ASRE= 13,440 10,080 3,360
O 22 =tld=s =2RE=s
160,000& 7+ 123 13,440
12 2@ =0ALRES 16,236 12,540 3,696
O 23 =oAL 2RE=S
123,0003 x11& 128 16,236
HY2HZHI(AAZAIRZ) 62,919 56,192 6,727
=&l 62,919 56,192 6,727
Jl=&H| 62,919 56,192 6,727
201 L= 24,923 24,764 159
01 AFS2t2ltl 24,923 24,764 159
O A22teltl 27,692,000 *90/100 24,923
202 044l 19,656 17,388 2,268
01 S| 19,656 17,388 2,268
O =UW0tl 90,0003 »26Z 122 *70/100 19,656
203 gR=8| 18,340 14,040 4,300
01 J1 228 LRF8H 6,500 6,500 0
O J122d gRF4Hl (2AANR=E) 6,500
02 SR IRHH 2= 2,240 1,840 400
O FEINIHRFA 80,0003 »28H 2,240
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5,700
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9,600
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400,000+ 123
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OF
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